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6-5 Multiplying and Dividing Complex Numbers

21:3+2i

Zz=-5+7i

(3 >§ =5 +7i)
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z, = r,(cosE, +ismd,)

z, =r,(cos 6, +isiné,)

2,2, = KR [cos(6, +6,) +isin(6, +6,)]
22 ifeos(6, - 6,) +isin(6, - 6,)]

2, K

Ex 1

z, = 2(cos%+isin%”)
_ Nz | i 1
z, —8(cos 2~ +isin 6)

Find z,z, Write the answer in trigonometric and
standard form.
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Ex2 7 =24(cos300° +isin300°)
z, = 8(cos75° +isin 75°)

Find “L  Write the answer in trigonometric and
Z, standard form.
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Ex 3 Find 22

z=r(cos@+isinfd) e ((csﬁ‘)-l-}S'mﬂ)

8’12' r’). Q(o_s :6+\§»ﬂ9'm>
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DeMoivre's Theorem -
If z =r(cosf +isin 4)

Then z" =r"(cosnf +isin nb)

Ex4  Find (-1+ﬁ:')12
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Ex5  Find (1_|_l')8
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Homework
p.457
#55-65, 91-93 odds
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